b)

b)

1. ZIRXDEE

RO = HEIBY L.

6x — (3x% = (~242 + (43 — 6) - 3) - 5x)

9x2 — 10x — 4 — (4x —3)(2x2 +5x — 1)

201 2 FEATH EREF Al (£268R)

A=x2-3,B=1-2x2,C=x3—x+10DEE, ROXETEH L.

A-B-C =

C — (B +34) =

A—(B—(C—4) =

ROBERDODAZFEL K.

—a? x (b} =
) (=x)(=y)* =
(=3a?b)? x (=2ab3)? =

Bx—H(Ix—-1) =

(a® + ab + b?)(a® — ab + b?)

b) a x (a?)3 x (a®)? =
d) ab3(a®—5b?%) =
f) (Bx +4y)? =

h) (5x + y)(x + 5y) =

j) (x% +3xy — y?)(2x — 5y)

FHAES K%

k) (@a+b+c)a®+b?>+c?—bc—ca—ab) =

ROBRDERATFHT L. (EVMADARBBELTEDE BRI B AR, ]

a) (a+b)a*—ab+b?) =a>+5b3 b) (a —b)(@a? +ab + b?) = a3 — b3

c) (x +y)* = (x—y)* = dxy

ROBR DA REDHEE K.

a) 3ab —6ac = b) 2a?%b —ab? =

c) x> —x= d) (@a+b)x—(a+b)y=
e) x2+x—6= f) x2—-7x+10 =

g) 3x2—18x +27 = h) x2—1lxy +24y% =
i) 25x%2 —4 = j) x> +8=

k) x*+x= 1) 3x2—-5x—-2=

[E=TH<]



(6] ROBRERTL, BERUAERDEK. 12120, a BERETS.

a) b)

x—2)x3—2x2 +4x -8 2x% 4 3x + 1) 2x* + 2x3 + x
A= RY = A= &) =

c) d)

2x% —x —1)x3 —X x2 +ax —a?) x3 —2a%x
A= RY = A= &) =

f)=x*=3x+1&75.

a) f(x)%& x — 2 TCEI>fcETDRYZRDK. x—2)x3 —-3x+1

b) f(2) DEZFEL., a) DRRELEE L.

FIROFEAFABLT, f(x)=x3—x2—2x ZRORXTE >/ EEDRUARKRD L.

a) x—1 b) x—3

c) x+1 d) x+2

O] a) x—1, x=2, x+1, x+20D>5 x> -3x2 +4DRRTB>TOLBEDEVR.

b) x3 —3x? +4 ZERYSHEE L.

BEREERABOT x3 —4x2 + x + 6 #EHORE L.

2
_2 )
[11] J;H DEOBRE AT+ PBOBERUASELT,
2_2 /\[' _
i O O P
x+1 x +1 Y11

DEDIC, BREDFHIDBIUVBERODEREDDEICT D EDNTES.
RON%Z, BRXEDFIHDEBLUERODEREDFDEICE L.

5x +4 _

x—2

a)

2x2—x+3_

b)
2x + 1
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